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Solutions to selected questions from Sec. 9.2
Question 25
x+ y—5z=-18 1 1 -5]|-18
3x =3y + z = 6 ;Thissystem has the augmented matrix (3 -3 1 6
x+3y—2z=-13 1 3 =-21-13
apeme |11 =5 |—-18] . 1 1 -5[—-18 ]
R o -6 16| 60| =— o 1 =8| —10
lo 2 3 5 | lo 2 3 5 |
7
—1R2+R1 0 3 -8 F [1 0 —g -8
—2R2+R3 |0 1 _g ~10 25_) |0 1 _§ —10
3
00 Z| 25| lo o 11 3
7
§R3+R1 1 0 0 _1
§R3+R2
— [0 1 -2 | = Solution set: {(—1,-2,3)}
lo o 1] 3]
Question 26
—x+ 2y+6z=2 -1 2 6 |2
3x + 2y + 6z = 6 ; This system has the augmented matrix| 3 2 6 |6
x +4y—-3z=1 1 4 =311
1 =2 =6 |-2] Lapiare |1 -2 —6]-2 . 1 -2 -6
—R1 _ —R2
—[3 2 6|6 |28 o 8 24| 12] &S o 1 3
1 4 =311 0 6 3 3 0 6 3
SR I 1 . 1 0 0 %
=28 o 1 3 : =5 lo 1 3|2
2
0 0 —-15 | -6 0o 0 11:
1 0 o1
—3R3+R2 3
—+> 0 1 0| 10| = Solution set: {(1,%,3)}
2
00 1] 3
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Question 36
3x+y+3z=1 3 1 311
X + 2y — z = 2 ; This system has the augmented matrix |1 2 —1 |2
2x—y+4z=4 2 -1 4 1|4
1 2 =12 gpeme |1 2 -1]2 ) 1 2 -1]2
R1©R2 —2R1+R3 —5R2 6
—3 1 3 |1|—— |0 5 6 (5] — [0 1 -—-f1
2 -1 4 14 0 -5 6 0 0 -5 610
1 2 —-1]2
5R2+R3 6
— |0 1 3 1
lo o ols]
The last row indicates that there is no solution = Solution set is ¢
Question 38
5x—=3y+z=1 |5 -3 1 |1
; This system has the augmented matrix
2x+ y—z=4 2 1 -11l4
1 1 3 1
%Ij 1 —-= = % —2R1+R2 1 s 5 |3 %RZ 1 3 s |s
11 7 |18 7 |18
2.1 -1l4 O 5 5% 0 1 =4l
2pa2+r1 (1 0 I
— 7 |
0 1 o I
The equations that correspond to the final matrix are:
2 13 p 7 18
SR TRARET] an Y“11 T

This system has infinitely many solutions. We will express the solution set with z as the
arbitrary variable. Therefore,

_2 .13 . _7, .18
T an M TEET]

= Solution set: {(iz + E, lz + E, Z)}
11 11’ 11 11
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